This report contains the transfers results.

Contest Name
George St-Harbour Ward

Valid Votes
Positions to be Filled
Quota
George St-Harbour Ward

3,427

4
686

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Desmond BOUSE	Scottish Liberal Democrats	391
Mac Ahmed CHAUDRY	Independent	63
Dell HENRICKSON	Scottish National Party (SNP)	684
Michael HUTCHISON	Scottish National Party (SNP)	762
Guy INGERSON	Scottish Green Party	474
Sandra MACDONALD	Aberdeen Labour	678
Shane PAINTER	Scottish Conservative and Unionist	375
	Total	3,427

Candidate Michael HUTCHISON Elected with 762 votes, being in excess of the quota of 686

This report contains the transfers results.

# Stage 2 - Surplus of Michael HUTCHISON

76.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Desmond BOUSE	15	0.09973	1.49595
Transfer to Dell HENRICKSON	620	0.09973	61.83260
Transfer to Guy INGERSON	41	0.09973	4.08893
Transfer to Sandra MACDONALD	41	0.09973	4.08893
No further preference	34	0.09973	3.39082
Not transferred due to rounding			0.00574
	Total		76.00000

This report contains the transfers results.

# Stage 3 - Surplus of Dell HENRICKSON

59.83260

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Desmond BOUSE	59	0.08022	4.73298
Transfer to Mac Ahmed CHAUDRY	28	0.08022	2.24616
Transfer to Guy INGERSON	328	0.08022	26.31216
Transfer to Sandra MACDONALD	101	0.08022	8.10222
Transfer to Shane PAINTER	17	0.08022	1.36374
Transfer to Desmond BOUSE	51	0.00800	0.40800
Transfer to Mac Ahmed CHAUDRY	26	0.00800	0.20800
Transfer to Guy INGERSON	310	0.00800	2.48000
Transfer to Sandra MACDONALD	87	0.00800	0.69600
Transfer to Shane PAINTER	12	0.00800	0.09600
No further preference	151	0.08022	12.11322
No further preference	134	0.00800	1.07200
Not transferred due to rounding			0.00212
	Total		59.83260

This report contains the transfers results.

## Stage 4 - Surplus of Sandra MACDONALD

4.88715

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Desmond BOUSE	173	0.00707	1.22311
Transfer to Desmond BOUSE	11	0.00070	0.00770
Transfer to Desmond BOUSE	18	0.00056	0.01008
Transfer to Desmond BOUSE	11	0.00005	0.00055
No further preference	256	0.00707	1.80992
No further preference	7	0.00070	0.00490
No further preference	49	0.00056	0.02744
No further preference	45	0.00005	0.00225
Not transferred due to rounding			0.00408
	Total		4.88715

This report contains the transfers results.

#### Stage 5 - Exclusion of Mac Ahmed CHAUDRY

66.25658

Ctago o Exolableri el Mae / lilinea el li tebiti			00.2000
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Desmond BOUSE	18	1.00000	18.00000
Transfer to Guy INGERSON	13	1.00000	13.00000
Transfer to Shane PAINTER	9	1.00000	9.00000
Transfer to Guy INGERSON	2	0.09973	0.19946
Transfer to Desmond BOUSE	5	0.08022	0.40110
Transfer to Guy INGERSON	6	0.08022	0.48132
Transfer to Shane PAINTER	2	0.08022	0.16044
Transfer to Desmond BOUSE	5	0.00800	0.04000
Transfer to Guy INGERSON	7	0.00800	0.05600
Transfer to Shane PAINTER	2	0.00800	0.01600
Transfer to Desmond BOUSE	10	0.00707	0.07070
Transfer to Guy INGERSON	9	0.00707	0.06363
Transfer to Shane PAINTER	2	0.00707	0.01414
Transfer to Desmond BOUSE	1	0.00070	0.00070
Transfer to Desmond BOUSE	1	0.00056	0.00056
Transfer to Guy INGERSON	2	0.00056	0.00112
Transfer to Desmond BOUSE	3	0.00005	0.00015
No further preference	23	1.00000	23.00000
No further preference	4	0.09973	0.39892
No further preference	15	0.08022	1.20330
No further preference	12	0.00800	0.09600
No further preference	7	0.00707	0.04949
No further preference	5	0.00070	0.00350
No further preference	1	0.00005	0.00005
Not transferred due to rounding			0.00000
	Total		66.25658

 $Report\ Name:\ Transfers\_V0001\_George-St-Harbour-Ward\_06052022\_160454.pdf\ Created:\ 06-5-2022\ 16:04:54$ 

This report contains the transfers results.

## Stage 6 - Exclusion of Shane PAINTER

386.83250

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Desmond BOUSE	181	1.00000	181.00000
Transfer to Guy INGERSON	26	1.00000	26.00000
Transfer to Desmond BOUSE	2	0.09973	0.19946
Transfer to Guy INGERSON	1	0.09973	0.09973
Transfer to Desmond BOUSE	6	0.08022	0.48132
Transfer to Guy INGERSON	7	0.08022	0.56154
Transfer to Desmond BOUSE	5	0.00800	0.04000
Transfer to Guy INGERSON	2	0.00800	0.01600
Transfer to Desmond BOUSE	55	0.00707	0.38885
Transfer to Guy INGERSON	11	0.00707	0.07777
Transfer to Desmond BOUSE	2	0.00056	0.00112
Transfer to Guy INGERSON	1	0.00056	0.00056
No further preference	177	1.00000	177.00000
No further preference	2	0.09973	0.19946
No further preference	6	0.08022	0.48132
No further preference	7	0.00800	0.05600
No further preference	32	0.00707	0.22624
No further preference	2	0.00070	0.00140
No further preference	3	0.00056	0.00168
No further preference	1	0.00005	0.00005
Not transferred due to rounding			0.00000
	Total		386.83250

 $Report\ Name:\ Transfers\_V0001\_George-St-Harbour-Ward\_06052022\_160454.pdf\ Created:\ 06-5-2022\ 16:04:54-2022$ 

This report contains the transfers results.

# Stage 7 - Exclusion of Guy INGERSON

548.34777

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Desmond BOUSE	257	1.00000	257.00000
Transfer to Desmond BOUSE	18	0.09973	1.79514
Transfer to Desmond BOUSE	140	0.08022	11.23080
Transfer to Desmond BOUSE	129	0.00800	1.03200
Transfer to Desmond BOUSE	77	0.00707	0.54439
Transfer to Desmond BOUSE	7	0.00070	0.00490
Transfer to Desmond BOUSE	16	0.00056	0.00896
Transfer to Desmond BOUSE	16	0.00005	0.00080
No further preference	256	1.00000	256.00000
No further preference	26	0.09973	2.59298
No further preference	201	0.08022	16.12422
No further preference	190	0.00800	1.52000
No further preference	68	0.00707	0.48076
No further preference	8	0.00070	0.00560
No further preference	12	0.00056	0.00672
No further preference	10	0.00005	0.00050
Not transferred due to rounding			0.00000
	Total		F 40 0 4777

Total 548.34777